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The amount of revenue from four types of foods in four different areas in America is 

given in the table. 

 

On the whole, the amount of the turnover is the highest in Boston and the lowest in San 

Diego (SD); also, cookies are the most popular food among the four. 

 

It can be clearly seen that people in Boston consume a lot more cookies than those in 

other cities: . Tthe figure for Boston reaches 3,500m3.5 billion, followed by Now York 

(NY) and Los Angels (LC) with approximately 2,500m. By contrast, the sales for  of 

cookies are the lowest in San Diego (SD) with just under 1,500m. Identically, San Diego 

sees the lowest sales figures for the other three foods. In addition to that, it is interesting 
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to note that the turnover for bars in NY, Boston and LA are almost the same at around 

2,500m. The figures for crackers and snacks show similar trends to cookies, although the 

scales are a lot smaller than the latter. 

 

Grade Criteria Estimated  

Grade 

 

Task response 5-6 Good overall summary 

good coverage of cookies, but all the others were not really covered 

well, especially crackers and snacks, which you didn't have any 

numbers for at all. 

 

You need to plan your task better so that you don't say too much 

about one category; and so you cover all categories equally well. 

Cohesion and 

coherence 

7 Your overall summary should go in the introduction. 

 

Always look at opportunity to separate the data into paragraphs. For 

instance, with this task you can go by sales volume. 

 

Paragraph 2= highest selling items 

 

Paragraph 3= lowest 2 items 

Vocabulary 6-7 I expect to see the word billion here, the task clearly calls for it. 

 

1,500m is not okay, it is extremely unclear and it could mean 1500 

metres. 

 

Otherwise vocabulary was really good on this task and you might 

have got to 8! 

Grammar 8 A few minor errors only 

overall 7 There are some really good things about this task; like relatively 

few errors. However major errors with “billion” and not covering 

the data equally have a big negative impact on your score. It’s better 

to have these problems while practicing! 
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